CS441 
SUMMER 2011
ASSIGNMENT # 5
DUE: July 9, 2011 BY 10:00 p.m. – UPLOAD ANSWERS TO THE FOLDER: ASSIGNMENT 5  OF BLACKBOARD (DO NOT USE DIGITAL DROP BOX).

MAXIMUM GRADE POINTS: 12
· GENERAL INSTRUCTIONS APPLYING TO ALL ASSIGNMENTS

FOR EVERY EXERCISE SUBMIT: 

· SOURCE CODE.

· COMPILED FILES.

· ANY DATA FILES.

· ANY HTML FILES (IF APPLET).

· ANY README FILES REQUIRED BY THE DESCRIPTION.

· ANY SECURITY POLICY FILES AND OR CERIFICATES REQUIRED.

· A war FILE FOR DEPLOYMENT IN TOMCAT AS NEEDED.

· CREATE A SEPARATE FOLDER FOR EACH EXERCISE!!! INSERT ALL APLICABLE FILES (SOURCE CODE, COMPILED CODE, README FILE, war FILE etc) FOR THE EXERCISE INTO THE FOLDER. NAME THE FORDER USING THE EXERCISE NUMBER (i.e. EXERCISE1).

· JAVADOCS HTML FILES MUST BE ON A SEPARATE SUB FOLDER CALLED “DOCUMENTATION”

· INCLUDE BAT FILES TO START THE PROGRAMS

· ZIP ALL FOLDERS AND UPLOAD THE ZIPPED FILE TO THE PROPER ASSIGNMENT FOLDER ON BLACKBOARD. DO NOT USE DIGITAL DROP BOX!!
· THE ZIPPED FOLDER SHOULD BE NAMED:  yourfirst_and_lastname_assignment#.zip

NOTE: IT IS NOT THE RESPONSIBILITY OF THE TEACHING ASSISTANT GRADING YOUR ASSIGNMENT TO MAKE YOUR PROGRAMS WORK BY SUPPLYING ADDITIONAL FILES THAT ARE NEEDED. YOUR SUBMISSION SHOULD BE COMPLETE. YOU MUST INCLUDE YOUR SOURCE CODE!!

EXERCISE 1 (6-points)

Using NetBeans design two projects. The first project is a session ejb with two remote interfaces. The first interface has a business method that receives an int data type from  the client and returns nothing. The second interface has a method that takes no argument and returns a String. Both implementations require registration on a naming service. The client has to do a lookup before an invocation. In the ejb that implements the two interfaces create a hash table of int, String pairs as elements (3 pairs). The ejb looks up the int, submitted by the first invocation, in the hash table and captures the corresponding String .It returns the String as part of the second business method’s invocation. 


The second project is the application client. The application client submits the numbers for the hash table and outputs the corresponding Strings (from the second invocation). The client does three pairs of invocations (one for each number/String). Submit all the project files so that all the TA has to is to open your project with NetBeans and Run it.



EXERCISE 2 (6-points)


Using NetBeans redo exercise 1 as a single Enterprise project. This time the client to the session bean is a web application. The web application consists of a servlet. The servlet is called from an applet. The applet is called from a html file that just calls the applet. The applet creates the numbers, calls the servlet, the servlet does one invocation to submit the number received to the session ejb and then it does a second invocation to receive the String from the ejb and return it to the applet. The session bean communicates with JPA code module which queries a persistence unit. The persistence unit consists of an entity that has two fields. The first field is the int passed from the applet and it acts as a primary key for the second field which has a String message. Therefore, the Hash Table from exercise 1 has been replaced with the persistence unit (similarly to exercise 1 enter 3 instances-rows of data in the table of the database). The applet repeats this cycle for 3 numbers submitted by the applet and also does 3 invocations to receive the data. Submit all the required NetBeans project files already built so that all is required is to run the Enterprise project.
